[TAKACHI

BOEC- NS

BBEER/
Photo
INDEX

TSRFYI
=2

FrUvT
=2

BhioK - BEE
By T2

BhK - BAEE
FZIV=/
ATV
RyIZ

WFRYIR/
Fika3%05/
=
TSR

TILEYvY
F—2

Insert Nuts, Heliserts,For Plastic

1Y —kFvb
*)ﬁbT(/ﬁ r>rvbk

SAFVvIH

BHIICATGAB I TRELIMEINESNE T,
IvEVITEZRARRRICTYMEIEDAHE T D TEDRLAEHHUDHFRE T,

WIS EENATT ., AS. BEICS>TEBBILET,
JNT

1Y

+
—b « AUY—RERfT

=Y

SRfEeH

129—=bFvh

FIABNA Y —bFyb

ME E5p5 / ZwTIbAvF

ANUY—h

WM& ATV / EBIIE

Win | 2R y . Win | 2R . wWin | 2R
2541 & g1 7!%‘191':?%4: mm v12 7R‘191':f§¢ mm
SP-M3 M3X0.5P | 8~10 | 5.3 IRB-2603S | M2.6 X0.45P | 5.5~ 6 | 3.0 2TNM-M2 | M2 X 0.4P 4~5 2.0
SP-M4 M4 xX0.7P |9.5~12| 7.4 IRB-304S M3 X0.5P | 5.5~6 | 4.0 2TNM-M2.6 |M2.6 X 0.45P| 4.8 ~6 | 2.6
SP-M5 M5X0.8P | 12~14 | 8.3 IRB-404S M4 x0.7P | 6.5~10| 4.0 2TNM-M3 | M3X0.5P | 4.8~6 | 3.0
MEREDM2ONUY - ERFDIHE.
.]:|5§§9=-\1— & (g*ﬂ:h) 0.04N - ML T CHEDHULZEITO>T T,
MIAE
JET=] i :
e O (@) ©
dXbk @) A A
YOI RER R R A O O

O:BNnTL3 O:BLY A:3D5

pery {31 EXAMPLE

Raspberry

TU—H4ZX
T—2/
PO EPS
JAE3Y

Svor—2/
YISvo

iR/
SvIINRIb

Ly —/
TitivIz

7o U—
/#tEEREm

HAY L&

Heirar)/
BETEA

19—=bFvb

15-55

FIRAHBRA VY —bFyb




